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FOREWORD

The Advanced Certificate of Secondary Education Examination marks the end of
two years of Advanced Secondary Education. This is a summative evaluation
which, among other things, shows the effectiveness of educational system in
general and educational delivery system in particular. More specifically, the
candidates’ responses to the examination questions is a strong indicator of what the
educational system was able or unable to offer to students in their two years of
education.

The Candidates’ Items Responses Analysis Report (CIRA) in the 2018 Arabic
Language subject in the Advanced Certificate of Secondary Education
Examination (ACSEE), has been prepared in order to provide feedback to teachers,
students and all education stakeholders on the performance of the candidates.

This report is intended to enhance understanding of the reasons for the candidates’
responses in Arabic Language subject. The report highlights the factors that made
the candidates perform well in the examination. Such factors include, ability to
interpret the requirements of the questions and to follow instructions as well as
adequate knowledge on the concepts related to Arabic Language. On the other
hand, the report highlights the factors that made some of the candidates fail to
score high marks, including failure to identify the demands of the questions,
inability to express oneself in Arabic Language and insufficient knowledge about
the concepts, principles and rules related to the subject.

The feedback provided in this report will enable the education administrators,
school managers, teachers, students and other education stakeholders to identify
proper measures to be taken in order to improve teaching and learning in secondary
schools, and therefore improve the candidates’ performance in future examinations
administered by the Council.

The National Examinations Council of Tanzania will highly appreciate comments
and suggestions from teachers, students and public in general that aimed at
improving future reports.

Finally, the Council would like to thank the Examiners, Coordinator and all who
participated in preparing and analysing the data used in this report.

A

Dr. Charles E. Msonde
EXECUTIVE SECRETARY
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1.0

INTRODUCTION

This report focuses on the analysis of the candidates’ performance in the Arabic
Language subject for the 2018 Advanced Certificate of Secondary Education
Examination (ACSEE). The Arabic Language Examination was set in
accordance to the 2004 syllabus.

The candidates were tested in the skills of comprehension, grammar, language
use, morphology, composition, rhetoric, response to readings, and literature. The
examination had two (2) papers, which are Arabic Language paper 1 and paper 2.
Paper 1 had nine (9) questions distributed in five (5) sections and the candidates
were required to answer five (5) questions by choosing one (1) question from
each section. Question one (1) in Comprehension was compulsory. Conversely,
paper 2 had ten (10) questions distributed in five (5) sections and the candidates
were required to answer five (5) questions by choosing one (1) question from
each section. Each question carried twenty (20) marks.

The candidates’ performance in each question is presented by indicating the
demands of the question, the expected responses to the questions and how the
candidates answered the questions. Extracts of sample responses from the
candidates’ scripts have been inserted in order to illustrate how the candidates
responded to the requirements of each item.

The rating of candidates’ performance has been grouped into 'good', 'average' and
'poor' and they are represented in green, yellow and red colours. Under this
analysis, good performance ranges from 60 to 100 percent and is coloured green,
average performance from 35 to 59 percent and is coloured yellow and poor
performance from 0 to 34 percent and is coloured red. This analysis is based on
the average percentage of the candidates who scored 35 percent or above of the
total marks allocated to a question. The performance is summarised in the
Appendix.

A total number of the candidates who sat for the Advanced Certificate of
Secondary Education Examination (ACSEE) in Arabic Language in 2018 were
412 of which 330 (80.10%) passed and 82 (19.9%) failed. In 2017, candidates
who sat for Arabic Language Examination were 326 of whom 218 (66.87%)
passed and 108 (33.13%) failed. This 2018 performance has increased by 13.23
percent as compared to the year 2017.



2.0 ANALYSIS OF THE CANDIDATES’ RESPONSES IN EACH QUESTION
IN ARABIC LANGUAGE PAPER 1

2.1 Section 1: Comprehension
This section comprised one compulsory question and the candidates were
required to attempt all items of the question. The question carried twenty (20)
marks.

2.1.1 Question 1
The question required the candidates to read the passage and respond to
the questions from the given passage. The passage was about the
elephant and Rabbit.

This question had two parts; (a) and (b). In part (a), the candidates were
required to provide short answers to five (5) items given. In part (b), the
candidates were required to fill in the blanks with appropriate
information from the passage.

The question was attempted by 412 candidates (100%) whereby 22
candidates (5.3%) scored from O to 6 marks, 91 candidates (22.1%)
scored from 7 to 11.5 marks and 299 candidates (72.6%) scored from
12 to 19 marks. The general performance of the candidates in this
question was good, considering that 390 candidates (94.7%) scored an
average of 35 percent and above of 20 marks allocated to this question.
The overall performance of the candidates in this question is
summarised in Figure 1.
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Figure 1: Candidates’ performance in question 1
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The candidates who performed well in this question were able to
provide appropriate responses to the five items given and fill in the
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blanks with appropriate information from the passage. This suggests
that these candidates comprehended the text given and had adequate
comprehension. Extract 1.1 shows a sample of a good response.
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Extract 1.1: A sample of a good response from the candidate who
provided correct answers to the five items given and could fill in the
blanks with correct information from the passage.

However, some candidates performed poorly in this question due to
inadequate mastery of Arabic Language. Responses showed that these
candidates did not understand what was written in the passage. As a
result, many of them just picked some words or sentences from the
passage and used them as answers without considering meaning and
requirements of the question. For example in item (a -3), which asked
£ g e JUs) o sy ALl ae j S JiLa “What did the leader of elephants
say after she was cheated by Rabbit (ferouz)?”” One of the candidates
Wrote $ -Sigiy s ot s dll (o ALdl ae j JF “The leader of elephants
said; who will destroy me and make me blind?” This response indicates
that the candidate failed to comprehend the exact meaning of Jta/
“cheated”. The correct response was «cutll 248 N 90/ o ALl ase j JE
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lgio i 4Ldl) 4427 49 “The leader of elephants said; | will never come
back to this water stream and elephants will never drink from this
stream again”. Moreover, several others left the questions unanswered.
Extract 1.2 shows a sample of poorly attempted items.
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Extract 1.2: A sample of a poor response from the candidate who just
picked some words or sentences from the passage and used them as the
answers due to poor mastery of Arabic Language.

2.2 Section 2: Grammar
This section had two questions and the candidates were required to attempt
one question. Each question carried twenty (20) marks.

2.2.1 Question 2
This question had two parts; (a) and (b). The candidates were required
to identify an adjective and substantive in the given sentences in part
(@). In part (b), the candidates were required to explain meaning of
passive voice, write the situation of indeclinable, explain rule of
feminine verb in the sentence, provide two examples of causative object
and finally mention four signs of verbs.

The question was attempted by 173 candidates (42.0%). The statistics
shows that 108 candidates (62.4%) scored from 0 to 6.5 marks, 53

candidates (30.7%) scored from 7 to 11 marks and only 12 candidates
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(6.9%) scored from 12 to 185 out of 20 marks. The general
performance of the candidates in this question was average whereby 65
candidates (37.6%) scored from 7 to 18.5 marks. The performance in
question 2 is summarized in Figure 2.

Scores

m0-65
o7-11
mi12-185

Figure 2: Candidates’ performance in question 2

The candidates who performed well in this question understood the
requirements of the question and were able to identify the adjective and
substantive in the text. For example in item (a-5), one of the candidates
wrote £/ “red” as the adjective and (4L “flower” as substantive in
the sentence (abus £/san 54,9 4abld cabd “Fatma cut red flower in the
morning.” In part b, the candidates were able to explain the meaning of
passive voice, write the situation of indeclinable, provide two examples
of causative object and mention four signs of verbs. These responses
show that the candidates understood the grammar of Arabic Language.
Extract 2.1 shows an example of a good response.
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Extract 2.1: A sample of a good response of the candidate who was able to
provide correct answers in all parts except item (b-3).

On the other hand, the candidates who performed poorly in this

question failed to identify the adjective and substantive in the given

sentences. Some of the candidates confused the adjective and

substantive. Others provided irrelevant answers. For example in (a-1),

one of the candidates wrote down the predicate é4ds “Useful” as an
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adjective in Wldiy 548 awall had saide Luisd) 4L 4 “Physical exercise is
useful for activating and strengthening the body.” The correct response
was 4ewd “physical” as an adjective and 4dbf “exercise” as a
substantive.

In part (b), many of the candidates were unable to provide correct
answers in item (1) wanted the candidates to define ‘passive voice’. For
example, one of the candidates defined subject of the passive voice
instead of the passive voice. Another candidate defined uninflected
instead of the passive voice. Some of the candidates failed to write the
situation of indeclinable in the case of preposition and wrote types of
indeclinable in item (b-2). Others explained signs of verbs instead of
describing the rule for forming the given feminine verb.

The correct answers were supposed to be as follows; Jay deld ciis La oo
4l 41 [s2dad/ “The passive voice is the sentence which always does not
mention the subject of the verbs and the object is replaced in the subject
position”, L :fie Jb Ara of lilra OIS 13) 5 pally ] (10 £ pinall iy
taluall 4 Lo gf Ainsal) salewa 4The situation of indeclinable will be in
the case of a sign of vowel 5/ (kasra) when the noun has article JJ/
“the” or «ilal/“genitive construction” and Jedll (o Juad 4Y i sad) 4asa
Jeldly “the feminine verb in the sentence is allowable because the verb
is separated from the subject”. Extract 2.2 shows a sample of a poor
response from a script of a candidate who failed to provide appropriate
responses.
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Extract 2.2: A sample of the candidate who appointed the adjective and its

substantive from the given sentences vice versa in all items from part (a).

2.2.2 Question 3

This question had two parts; (a) and (b). In part (a), the candidates were
required to study the given underlined words and indicate governed
noun of genitive construction, predicate of a defective verb, coupled,
affirmation and an adjective. In part (b), the candidates were required to
define singular with two examples, explain when past tense is
constructed by 4aid (Fat-ha), explain condition of its phrase, explain
how plural sound is analyzed and mention types of sentence.

The question was attempted by 226 candidates (54.9%). 94 candidates
(41.6%) performed poorly by scoring from 0 to 6.5 marks. 13
9




candidates (5.8%) scored 0 mark. However, 100 candidates (44.2%)
performed on average by scoring from 7 to 11.5 marks while 32
candidates (14.2%) performed well by scoring from 12 to 19 marks.
According to this data, the performance in this question was average
since the percentage of candidates who scored 30 percent or above is
132 candidates (58.4%). The overall performance of the candidates in
this question is summarised in Figure 3.

12-19
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a
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0-65
e
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0 10 20 30 40 50
Percentage of Candidates

Figure 3: Candidates’ performance in question 3

The analysis of candidates’ responses shows that the candidates who
performed well in this question were able to indicate governed noun of
a genitive construction, predicate of a defective verb, coupled,
affirmation, and an adjective. For example in (a-2), one of the
candidates identified the underlined word <% “Three” as oS _us
Sl Aai duai dodley cigpale “predicate of defective verb is an
accusative case”. Moreover, the candidates managed to define the
singular with two examples, explain when past tense is constructed by
4aziff (Fat-ha), explain condition of its phrase, explain how plural sound
is analyzed and mention types of sentence. For example in (b-5), one of
the candidates mentioned types of sentence as 4ued!f {aaty Lo/ LLaat
“nominal clause and verbal clause”. This good performance indicates
that the candidates understood the topic. Extract 3.1 shows a sample of
a good response.

10
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Extract 3.1: A sample of a good response from the candidate who was
able to analyse all the underlined words correctly.

However, some candidates were unable to indicate governed noun of a
genitive construction, predicate of a defective verb, coupled,
affirmation and an adjective. Most of them failed to analyse underlined
words in (a-1) and (a-4). For example, one of the candidates analysed
Obéay “Fasting” as 4 Jsede “object” instead of 4/ «ilis “governed




noun of a genitive construction” and < “You” as _af <ia
“preposition” instead of &l 2551 “affirmation”.

Furthermore, the candidates were unable to define singular with two
examples, explain when past tense is constructed by 4aidl (Fat-ha),
explain condition of its phrase, explain how plural sound is analyzed
and mention types of sentence. Majority of the candidates could not
supply correct answers in (b-2) and (b-3). For example, in (b-2), one of
the candidates wrote (s 4 aiell slily fuadl 13 pidl) Ao udolall Jodl) s
§s«dll “Past tense will be uninflected, if it joined with first person
pronoun and feminine plural pronoun.”

The correct response is o md o AL Jals al 1) idl) o dslal) Jodl] i
Ll GlAgl :fia il il o AL Jai) g/ s “Past tense will be
uninflected; if it did not join with any pronoun at the end except dual
pronoun”. In another instance, in (b-3), one of the candidates wrote that
the main condition of Jia/ sl “its phrase” is to be with article (&)
“A” instead of article (44af) “The”. Extract 3.2 illustrates a poor
response in question 3.

12
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Extract 3.2: A sample of a poor response of the candidate who provided
irrelevant answers to all the questions.
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2.3 Section 3: Language Use
This section had two questions and the candidates were required to attempt
only one question. Each question carried twenty (20) marks.

2.3.1 Question 4
This question had two parts; (a) and (b). In part (a), the candidates were
required to arrange words to make meaningful verbal clauses. In part
(b), the candidates were instructed to change the given singular
sentences into plural sentences.

The question was attempted by 200 candidates (48.5%). Statistics
shows that 150 candidates (75%) scored from 0 to 6.5 marks and 40
candidates (20%) scored from 7 to 11.5 marks. Furthermore, 10
candidates (5%) scored from 12 to 20 marks. The general performance
was poor since a large number of candidates scored below average as
summarized in Figure 4.

5.0%

mO0-6.5
ao7-11.5
mi12 - 20

Figure 4: Candidates’ performance in question 4

The candidates who performed poorly in this question were unable to
arrange the given words into meaningful verbal clauses as required.
Most of the candidates arranged the words into nominal clauses instead
of verbal sentences. For example in (a-1), one of the candidates wrote
Salehll o S/ €aw a4l Jilal “Why the cat does prefer fish to food”.
The correct answer for (a-1) was supposed to be s/ 4ews 4adlf cua fiLat
falebll e “Why does the cat prefer fish to food?” Some candidates
arranged the words randomly without considering the instructions. For
example in (a-4), one of the candidates wrote adei 34 Lelle Llgs a (ulil) 1a]
“One people among is born literate it is not known” instead of s/ ale7
Lalle gy (uldll (e “Learn no one among the people is born literate”. In
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part (b), many candidates failed to identify the changes of noun and
verb in the sentence. These candidates failed to recognize changes like
demonstrative pronoun or feminine case. For example, in (b-3), one of
the candidates wrote «ddii (wdlalf /38 “This clothes is clean” instead of
4dbii ywdlall 038 “these clothes are clean”. Others changed sentences into
dual instead of plural forms. This poor performance shows that the
candidates were not familiar with plural forms. Extract 4.1 is a sample
of a poor response.
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Extract 4.1: A sample of a poor response of the candidate who provided
irrelevant answers in all the items except item (a-2) and changed the

sentence into dual instead of plural form in item (b-1and 3).

Despite the poor performance in this question, there were some
candidates who performed well. These candidates were able to arrange

15



the given words and make meaningful verbal sentences as required.
The candidates managed to change the given singular sentences into
plural sentences as required. This good performance shows that the
candidates had good mastery of Arabic Language. Extract 4.2 shows a
sample of a good response.
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Extract 4.2: A sample of a good response of the candidate who was able to
change the given singular sentences into plural form as required.

2.3.2 Question 5
This question had two parts; (a) and (b). In part (a), the candidates were
required to replace &ilsify oS "defective verbs" with &isi/s &/ (inna
wa-akh-waatiha) in the given sentences by inserting changes where
necessary. In part (b), the candidates were required to fill in the blanks
with appropriate relative pronouns.
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The question was attempted by 212 candidates (51.5%). 125 candidates
(59%) scored from 12 to 20 marks, which is a good performance. 57
candidates (26.8%) scored from 7 to 11.5 marks, which is an average
performance. 30 candidates (14.2%) scored from 0 to 6.5 marks, which
is a weak performance. Among the candidates with weak performance,
6 candidates (2.8%) scored 0 mark. The general performance of the
candidates in this question was good considering that 182 candidates
(85.8%) scored an average of 35 percent and above 20 marks allocated
to this question. The overall performance of the candidates in this
question is summarised in Figure 5.

Scores
m0-6.5
ao7-11.5

m12-20

Figure 5: Candidates’ performance in question 5

The majority of the candidates who performed well in this question
were able to replace &lsi/s oL "defective verbs" with sifs &/ (inna
wa-akh-waatiha) in the given sentences by making necessary changes.
For example, in (a-2), Lefes <€l jlwa “The book has become a teacher”.
One of the candidates wrote Al <LS 5/“In deed the book is a teacher”
which was correct. This candidate could remember that subject of
nominal sentence should take a vowel 4aidll (Fat-hah) and the predicate
will carry a vowel <ey/ (dhammatu) when he replaced defective verbs
with &si/s &/ (inna wa-akh-waatiha) in the sentence. Moreover, the
candidates managed to fill in the blanks with appropriate relative
pronouns. For example, in (b-5), one of the candidates wrote ¢ <l
4iraw odll <gpall “That is the voice which I heard”, which was correct.
This good performance shows that the candidates had good mastery of
Arabic Language and sufficient knowledge on &si/s &/ (inna wa-akh-
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waatiha) and 4lsasall slawsd/ “relative pronouns”. Extract 5.1 shows a
sample of a good response.
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Extract 5.1: A sample of a good response of the candidate who was able to
replace defective verbs with “inna wa-akh-waatiha” and fill in the blanks

with appropriate relative pronouns as required.

On the other hand, the candidates who performed poorly in this
question were unable to replace &=/si/s ois "defective verbs" with &/
943/ (inna wa-akh-waatiha) in the given sentences and insert changes
where necessary. Most of the candidates replaced &si/s oS "defective
verbs" with &is3/s &/ (inna wa-akh-waatiha) without making necessary
changes which were needed after writing &sifs &/ (inna wa-akh-
waatiha) in the sentences. For example in (a-5), one of the candidates
could not make necessary changes after removing defective verbs and
putting &ss/s &/ (inna wa-akh-waatiha) in the sentence like this LS
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Laleo cili<hwhich was wrong. The correct answer was Alee i<l IS “The
book is like a teacher”.

In part (b), some of the candidates who failed in this part did not
understand the requirements of the question because they filled in the
blanks with demonstrative pronouns, pronouns and prepositions instead
of relative pronouns.

For example, in (b-2), one of the candidates wrote a demonstrative
pronoun Jéal/ 4 ogule Lialw £¥ 34 Claleal) it “ met teachers these we
greeted them in the party” which was wrong. The correct response was
Jisll A ogle Lialu (U gf U Claleal) Cidd “T met teachers whom we
greeted them in the party.”

Another example in item (b-4), one of the candidates wrote preposition
4“In” instead of a relative pronoun <<t /3 cra L jad 4 L 4 4lf Lad Ll
“These are two papers in get torn from this book” which was wrong.
The correct response was supposed to be (w L iad GUlll HLid olf Las Slils
oliclf /38 “These are two papers that get torn from this book”. Other
candidates wrote irrelevant responses. This poor performance implies
that these candidates had insufficient knowledge on the topic of &/
¢4/ (inna wa-akh-waatiha) and relative pronouns. Extract 5.2 shows
a sample of a poor response.
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Extract 5.2: A sample of a poor response of the candidate who filled in the
blanks with demonstrative pronoun in item (b-1 and 2) and preposition in
item (b-3, 4 and 5).

2.4 Section 4: Morphology
This section consisted of two questions and the candidates were required to
attempt only one. Each question carried (20) marks.

2.4.1 Question 6
This question had two parts; (a) and (b). In part (a), the candidates were

required to define the unaugment verb with three letters DL Jedl
20



<</l provide the advantage of morphology, write categories of verb
with three letters and sound 5.« “T” at the middle of it, mention £/
saiad Jedll “the types of transitive verb” and measure the given verbs.
In part (b), the candidates were required to write verbs from the given
gerunds.

The question was attempted by 210 candidates (51.0%). 52 candidates
(24.8%) scored from 12 to 20 marks. 74 candidates (35.2%) scored
from 7 to 11.5 marks. 84 candidates (40%) scored from 0 to 6.5 marks.
This shows that the candidates’ performance in this question was good
as illustrated in Figure 6.
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Figure 6: Candidates’ performance in question 6

The candidates who scored high marks in this question were able to
define the unaugment verb with three letters Laall 0 Jedl provide
the advantage of morphology, write categories of verb with three letters
and sound 5S “T” at the middle of it, mention seiall Jedl £/4if “the
types of transitive verb” and measure the given verbs. Furthermore, the
candidates were able to write verbs from the gerunds. For example, one
of the candidates wrote sk -ades “educating —educated”, Jed/ -Jas/
“neglecting — neglected” and Jws -Js<s “arriving- arrived.” This good
performance shows that the candidates had enough knowledge on
morphology. Extract 6.1 shows a sample of a good response.
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Extract 6.1: A sample of a good response of the candidate who derived
verbs from the given gerunds as required.
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On the other hand, the candidates who performed poorly in this
question were unable to define the unaugment verb with three letters
Lo DUY Jddl to provide the advantage of morphology, write
categorles of verb with three letters and sound &_«s“I” at the middle of
it, mention seiel Jedl £/4if “the types of transitive verb” and measure
the given verbs. Most of them failed to write categories of a verb with
three letters and a sound 4_«S“I” at the middle of it in (a-3) instead they
confused it with measurement of the verbs. For example in (a-3), one of
the candidates wrote: as/— Jed] 38— J2d uguy- Jd all of which were
wrong. The correct responses were g -z9 = Jed - Jod and = Jed - Jod
s -, Others could not provide the correct measurement of the
verb 4f “Take” and pﬂ “Stand up” in (a-5) For example one of the
candidates wrote measurement of verb s “Take” and ,aﬁ “Stand up” as
follows; f -is “Take” and & -faﬁ “Stand up”. The correct answers
were J& -4i “Take” because the removed letter was a letter known as st
4aI<h (Faul-kalima) and i -faj “stand up” because the removed letter was
a letter known as <al< cwe (Ainul-kalimah).

In part (b), majority of the candidates who performed poorly, they
provided morphology measurement instead of writing verbs of the
given gerunds. For example, one of the candidates measured the verbs
as follows: 4led -5 sas, 4lledo -5 ilda J2d7 238 which were not related to
the demand of the question. The correct responses were supposed to be
-5 “became red”, € -4 dlis “went” and a4l -»d87 “moved
forward”. Moreover, many of the candidates wrote incorrect verbs .4«
“irrigated” feé “rained steadily” and < “increased” in the following
gerunds sléwie/ “praying for rain”, 4«4 “chastening” and et/
“Neglecting” instead of  Awic/ “asked for a drink”, </ “purified” and
Jad/“neglected”. This poor performance shows that the candidates had
insufficient knowledge on morphology. Extract 6.2 shows a sample of a
poor response.
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Extract 6.2: A sample of a poor response of the candidate who provided
incorrect categories of verb with three letters and measured the gerunds
instead of the given verbs.

2.4.2 Question 7

This question had two parts; (a) and (b). In part (a), the candidates were
required to define morphology, explain conjugated words as well as to
explain unconjugated words, write two examples of infinitive from the
word ¢2ldand Led explain how present participle Jeldll aw/ is derived
from a verb with three letters 24/ Jedl and identify the strong verbs
and the weak verbs from the given verbs. In part (b), the candidates
were required to derive the present participle Jell aw/ and passive
participle Jsedel/ aws/from the given verbs.

The question was attempted by 191 candidates (71.6%) and their
performance was generally good. 106 candidates (55.5%) scored from
12 to 20 marks. 45 candidates (23.6%) scored from 7 to 11.5 marks.
Only 40 candidates (20.9%) scored from 0.5 to 6.5 marks out of the 20
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marks allocated for this question. The overall performance in question 7
is summarized in Figure 7.

12-20

7-11.5

Scores
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Percentage of Candidates

Figure 7: Candidates’ performance in question 7

The candidates who performed well in this question were able to define
the term morphology, explain conjugated as well as to explain
unconjugated words, write two examples of infinitive from the word
cMdand L4 explain how present participle Jeldll a/ is derived from a
verb with three letters 4 Jd identify the strong verbs and the weak
verbs from the given verbs and also to derive the present participle a/
Jelifand passive participle. Jstdal aw/ from the given verbs.

For instance in (a-4), one of the candidates correctly wrote a«/ fla
Sl G Ao AU Jedll ye Joldl “The present participle is formed from
the verb with three letters is Jetdwhich is correct. Another example in
(b), one of the candidates correctly wrote o< “Judge” as present
participle from the verb &4 “judged” and 2@ “Discharged” as
passive participle from the verb .24 “judged”. This good performance
shows that the candidates had adequate competence in morphology.
Extract 7.1 shows a sample of a good response.
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Extract 7.1: A sample of a response of the candidate who provided correct
answers to all the items.
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However, there were some candidates who performed poorly in this
question. These candidates failed to define the term morphology,
explain conjugated as well as to explain unconjugated words, write two
examples of infinitive from the word ¢edand k24 explain how present
participle Jeldll sl is derived from a verb with three letters &Y Jedl)
identify the strong and the weak verbs from the given verbs and derive
the present participle 4l aw/and passive participle Jseial/ aws/ from the
given verbs.

Most of the candidates were unable to give examples of infinitive from
the given words ¢2ledand JLedinstead the candidates wrote verbs which
were not related to the demand of the question. For example, in (a-3),
one of the candidates wrote Jlwdas- dledand Loy - edinstead of -ooed
Obdé and Led - Led Others just conjugated the given verbs instead of
distinguishing between strong and weak verbs as in (a-5). For example,
one of the candidates wrote Jiw/ -JSlew - Sl “to ask” g4 -8 “to
guide”, which was incorrect. The correct answers were gaw - Jlu “to
ask- strong verb” Jfits - ;s “to guide- weak verb”

Furthermore, in part (b), most of the candidates wrote gerunds instead
of present participle el aw/ and passive participle J/stde/ aw/ For
example, one of the candidates incorrectly wrote «iss -<ils “to fear-
fear” and Jlwadew/ -Guwadul “to favor- favor”. The correct answer was
supposed to be «isie -ciild -4l “to fear- an afraid- feared” and -uwadc/
Cradus -(uaiewa “to favor- an adviser- recommended”. Some of the
candidates used the given verbs to construct the sentences instead of
present participle Jel/ aw/ and passive participle Jsedel/ aw/ For
example, one of the candidates wrote 4flwe af 2L “The judge
discharged a case” and 4alilf af7“The student has been painful” instead
of (ads -dlf = &8 “to judge -a judge- dlscharged” and s HLM =alli
“to feel pain- be painful- be caused pain”. This poor performance
suggests that, these candidates had insufficient knowledge on Arabic
morphology. Extract 7.2 shows a sample of a poor response.
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Extract 7.2: A sample of a poor response of the candidate who
conjugated the given verbs instead of distinguishing between strong and
weak verbs in (a-5).
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2.5 Section 5: Composition
This section had two questions and the candidates were instructed to answer
only one. Each question carried twenty (20) marks.

2.5.1 Question 8
In this question, the candidates were required to write an article on the
importance of infrastructure established by the government for the
people.

The analysis of the candidates’ responses indicates that all 412
candidates (100%) omitted this question. This implies that the
candidates had insufficient vocabulary and lack of the ability to express
themselves in Arabic Language.

2.5.2 Question 9
In this question the candidates were required to write friendly letter to
their young brothers blaming them for not writing letters.

The question was attempted by 408 candidates (99.00%). The
performance was poor as 370 candidates (90.7%) scored from 0 to 6.5
marks, 30 candidates (7.3%) scored from 7 to 11.5 marks and 8
candidates (2%) scored from 12 to 16.5 marks out of the 20 marks
allotted to this question. The performance in question 9 is summarized

in Figure 8.
‘ 2.0%

Scores
m0-6.5
o7-11.5
mi2-16.5

Figure 8: Candidates’ performance in question 9

The candidates who performed poorly in this question were unable to
write friendly letter to their young brothers blaming them for not
writing letters. Most of the candidates could only write the address,
date, greetings correctly but they failed to explain the main body of the
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letter. Some of the candidates picked some words like _xt<// “small”,
44ilei “blame him” and 4itbs “his letters” from the question and mixed
them with their own words which resulted into meaningless structures.

For example, one of the candidates expressed the main body of the
letter as follows: a/ pte Ao duilei pduall & pif Al ods LLS o 2l
&) 4ibika “The aim writing this letter to tell you small to blame you for
not sending his letters to you” which was meaningless. The correct
answer was <ehd s dd g a Lo o i ailf g Ladll oy QLB 138 o 2 2N
ELBL g9 Ailai cils A ity & “The aim of this letter after greeting
you is to know what happened to you until you had stopped to send me
your letters as it was before”.

Other candidates did not understand the question. This caused them to
write the main body of the letter contrary to the requirement of the
question like 4w el sbadi<Life of school” and £/l agotlly (o filealf calls
Ll ) o jlicuad) “Asking for pocket money from their parents” that
were not related to the question requirement. Another example, one of
the candidates wrote: <libalf 4 calll of LusY Ul ode LS o a4l
Uf LaS g el o 657 9 ) 138 428 4 ¥ calg“The aim of this letter
is to tell you that life is struggling because the almighty God enjoined it
to the people and I advise you to be patient like me”. Moreover, their
ideas were poorly elaborated and organized. The poor performance of
these candidates shows that the candidates had inadequate vocabulary
and insufficient knowledge on informal letter writing. Extract 9.1 shows
a sample of a poor response.
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Extract 9.1: A sample of a poor response of the candidate who copied the
guestion and used it as the answer due to lack of enough vocabulary of

Arabic Language.

On the other hand, the candidates who performed well in this question
were able to write good friendly letters. The candidates adhered to the
format of informal letter writing by writing address, greetings, main
body and conclusion in a good logical flow, clarity and organization
despite some spelling mistakes and grammatical errors. For example,
one of the candidates wrote the main body of the letter as follows; i/
5la die bl afud ase elia (o ddasly o sed o8 ol b il Jdb (e
S e SIS LaS il 7 Y Jilad s pef 2 ) i dLisk “The purpose of this
letter is to express my feelings to you that | feel lonely for not receiving
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any letter from you for a long period, therefore, | would like to know
why you do not send me your letters as it was before?” This indicates
that the candidates had good mastery of Arabic Language, sufficient
vocabulary and good writing skills. Extract 9.2 shows a sample of a
good response.
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Extract 9.2: A sample of a good response of the candidate who wrote a
friendly letter adhering to the format of informal letters.

3.0 ANALYSIS OF THE CANDIDATES’ RESPONSES IN EACH QUESTION
IN ARABIC LANGUAGE PAPER 2

3.1 Section 1: Rhetoric
This section had two questions and the candidates were required to attempt
only one. Each question carried twenty (20) marks.

3.1.1 Question 1
This question had two parts; (a) and (b). In part (a), the candidates
were required to define the metonymy (4L, mention two constrains
of the metonymy with its vigilantes, mention three types of metonymy
with one example for each, and point out the place of metonym from
the two poems given. In part (b), the candidates were required to
complete sentences by filling in the blanks with appropriate
expressions.

The question was attempted by 333 candidates (80.8%). Statistics show
that 240 candidates (72.1%) scored from 0 to 6.5 marks. 88 candidates
(26.4%) scored from 7 to 11 marks. 5 candidates (1.5%) scored from 12
to 14 marks. This implies that the candidates’ performance in this
guestion was poor. This performance is summarized in Figure 9.
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Figure 9: Candidates’ performance in question 1

The candidates who scored low marks in this question were unable to
define metonymy (4L, write two constrains of the metonymy with its
vigilantes, mention three types of metonymy with one example for
each, and point out the place of metonym from the two poems given.
Most of the candidates failed to write two constrains of the metonymy
with its vigilantes. Some of the candidates wrote; gewd/ 4 slgsd/ “the
obscurity in the hearing” and ~#<// 4 53/ “the power in the meaning”
instead of writing &4y eel 59/ “Having in mind the original
meaning” and L raly Adad) Lral) 53 Jlsa “Possibility of having
in mind the original meaning and antonomasia meaning”’. Other
candidates did not attempt the item. In part (b), majority of the
candidates were unable to fill in blanks with correct expressions in (b-1,
2 and 3) which asked; Heie (4o _jiie 5 g 4 duddl] 4 g (5% ol psdidl -
= “The simile in which a snatched picture from multifold is
known as Y il dudial) 48 oy al o4l Aplddl] D

o cuS il 4 glead “The simile which has not mentioned
clearly the similarity and analogy but they are noticed in the sentence is

known as Vand ol LS e 4 4udd] 4 g 0158 ) enS 4 -3
o~ “The simile in which the analogy is realized by sense is
known as ”. Most of the candidates filled in the blanks

With Jusel 4udilly Jeaael 4udll Jaadel) 4udil “Detailed simile”,
“general simile” and “simile sender” in item (b-1, 2 and 3) respectively,
which all were wrong expressions. The correct responses were </
ol audilly Hadal) 4pdill o Ldail “Simile representation”, “implicit
analogy” and “sensory analogy” in (b-1, 2 and 3) respectively. This
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poor performance shows that the candidates had insufficient knowledge
on metonymy. Extract 1.1 shows a sample of a poor response.
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Extract 1:1: A sample of a poor response of the candidate who provided
irrelevant answers to all the questions given.
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Despite the poor performance in this question, there were 5 candidates
(1.5%) who performed well. Most of these candidates were able to
define metonymy (4L<), mention types of metonymy, and point out
the place of metonym from the given two poems. For example, one of
the candidates mentioned the types of metonymy as follows; e 4Ly
Luudl) g LUy g gal) & LUSY ddall “Metaphor for characteristics,
metaphor for described and metaphor for relationship”. In part (b),
many of the candidates could fill in the blanks with appropriate answers
in (b-1 and 5). e Hirie (e 4o jiia § 1 g 48 Gl 4 g 85 o4l 4ndidll -]
) “The simile in which a snatched picture from multifold is
known as »and  MHgd auddl 4a g9 SI8Y) Audll e cids 13 -5

st pddl] e £ 4l “The simile in which the analogy and
simile particle are removed is known as ”. The answers
were (Adailf 4udil “Simile representation” and &/ 4udilf“deep simile”
respectively. This good performance suggests that, these candidates had
sufficient knowledge on rhetoric. Extract 1.2 shows a sample of a good
response.
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Extract 1.2: A sample of a good response of the candidate who defined the

metonymy (<L) but failed to identify two constrains of the metonymy
with its vigilantes.
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3.1.2 Question 2
This question had two parts; (a) and (b). The candidates were required
to point out Jusel laal “metaphor” and its 443! “relation” and L&y
“indication” from the given poems. In part (b), the candidates were
required to decline the underlined Gauwalll 5 teiwy/ “explicit metaphor”
and 4d<el 5 jleiwy/ “implicit metaphor”.

The question was attempted by 71 candidates (17.2%) whereby 50
candidates (70.4%) scored from 0 to 6 marks, 19 (26.8%) scored from 7
to 11.5 marks and only 2 candidates (2.8%) scored 12 to 13 marks. It
was further observed that there was none who scored from 14 to 20
marks. This suggests that the candidates’ performance in this question
was poor as shown in Figure 10.

2.8%

Scores
mO-6
O7-11.5
mi2-13

Figure 10: Candidates’ performance in gquestion 2

Scripts of the candidates’ responses revealed that the candidates failed
to answer this question appropriately due to lack of knowledge on
metaphors. Most of the candidates provided irrelevant responses. For
example in (a-3), «ual ¥ leawd *lS o/ S Cegd “T have
understood the book well and I will be obedient to leader of Arabs” one
of the candidates wrote (4 Lidly Locall 4 ADladly il 90 Juusall jlaal)
<Ll “the metaphor is Arabs and its relation is causation and indication
is a word (book)”. This response was wrong. The correct response was
supposed to be as follows; s Llaall 4 4Metly sl 98 Joupall jlaal)
Ciagd Lals 4 “Metaphor is the book, the relation is the position and the
indication is a word (understood)”. Furthermore, many of the
candidates who attempted wrote Laxsalll 5 teiud/ “explicit metaphor”
and 4uSell 4 leiwy/ “implicit metaphor” randomly without making
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analysis as the question demanded. Extract 2.1 shows a sample of a
poOr response.
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Extract 2.1: A sample of response of the candidate who pointed out
(Jusdl laal) “metaphor” and its (49&l) “relation” and (i)
“indication” from the given poems incorrectly.

However, the candidates who performed well in this question were able
to point out el laad “metaphor” and 4% “the relation” and 4L d
“the indication” from the given poems. And they could also explain
how the underlined words 4assall 5 leiud/ “explicit metaphor” and
LuiSall § laicyl “implicit metaphor” had been used. For example, one of
the candidates analyzed this sentence /sl Jeidly o adiedl 45 ) o
ked “O my Lord! Infirm indeed are my bones and the hair of my head
doth glisten with grey” as follows; a4 dudall ciia af 498 ol (ul Wff du
iyl cld) iy jdlly LudSal) § i) fusw Ao VeI 3 5 4o jls] Ga G
[ This good performance shows that the candidates had sufficient
knowledge on metaphors. Extract 2.2 shows a sample of a good
response.
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Extract 2.2: A sample of a good response of the candidate who was able to
point out metaphor, its relation and indication from the given poems.

3.2 Section 2: Literature (Poems and Proses)
This section had two questions and the candidates were required to attempt
one question. Each question carried twenty (20) marks.

3.2.1 Question 3
The question had two parts; (a) and (b). In part (a), the candidates were
instructed to complete the poems with right expressions (verse) by
filling in the blanks. In part (b), the candidates were required to write
poems with five verses.

The question was attempted by 234 candidates (56.8%). The
performance was good whereby 42 candidates (17.9%) scored from 0 to
6.5 marks, 48 candidates (20.6%) scored from 7 to 11.5 marks and 144
candidates (61.5%) scored from 12 to 20 marks. The question had 20
marks. Figure 11 illustrates candidates’ performance in this question.
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Figure 11: Candidates’ performance in question 3

The majority of the candidates who performed well in this question
were able to complete the poems by filling in the blanks with correct
expressions. Furthermore, the candidates managed to write down five
verses. This good performance shows that these candidates had
sufficient knowledge on writing poems. Extract 3.1 shows a sample of a
good response.
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Extract 3.1: A sample of a good response of the candidate who was able to
complete the poem with right expressions and write down a poem of five
Verses.

On the other hand, the candidates who performed poorly in this
question were not able to provide five verses of poems. Some of the
candidates just copied some verses of poems from the questions and
used them as new responses. In part (b), most of the candidates did not
manage to fill in the blanks with correct expressions. Others did not
attempt the question due to insufficient knowledge on poetry. Extract
3.2 shows a sample of a poor response.
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Extract 3.2: A sample of a poor response of the candidate who completed
the poems with the wrong expression in part (a).

3.2.2 Question 4
This question had two parts; (a) and (b). In part (a), the candidates
were required to write five verses of poems after one verse of poem
given. In part (b), the candidates were instructed to complete the poems
with correct expressions.

The question was attempted by 173 candidates (42%), 147 candidates
(85%) scored from 12 to 20 marks. 11 candidates (6.3%) scored from 7
to 11.5 marks. Only 15 candidates (8.7%) scored from O to 6.5 marks.
This shows that the candidates’ performance in this question was good
as illustrated in Figure 12.
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Figure 12: Candidates’ performance in question 4

The candidates who performed well in this question were able to write
down poems of five verses after one verse of poem given. Moreover,
they were able to complete the poems by filling in the blanks with
correct expressions. This good performance indicates that these
candidates had sufficient knowledge on poetry. Extract 4.1 shows a
sample of a good response.
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Extract 4.1: A sample of a good response of the candidate who wrote
correct verses of poem after one verse of poem given and also completed
the poem with correct expressions.

48



Despite the good performance in this question, there were some
candidates who performed poorly. These candidates were unable to
write five verses of poems and fill in the blanks with correct
expressions. Some of the candidates copied some verses from the
questions and used them as their expressions. Others candidates wrote
or filled in the blanks with verses which were not related to the
requirements of the question. For example, one of the candidates filled
in the blank spaces with the verses of Mutanabbi instead of Alfarazdaq,
(A and Gad padll cuad o # dgad S o) dabld o) J34), The correct
EXPression Was /said 49 4l ¢l oday * dgad cuis o) dabsld ) Jd6 “If you do
not know him, this is a son of Fatima * the prophet hood had completed
through his grandfather”. A few did not attempt the question. The poor
performance shows that these candidates had insufficient knowledge on
poetry. Extract 4.2 shows a sample of a poor response.
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Extract 4.2: A sample of a poor response of the candidate who copied
some verses from the questions and used them as the answer due to lack
of enough knowledge on poetry.

3.3 Section 3: Literature (History)
This section comprised two questions and the candidates were required to
attempt only one question. Each question carried twenty (20) marks.
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3.3.1 Question 5

This question had two parts; (a) and (b). In part (a), the candidates were
instructed to write four characteristics of pagan poems. In part (b), the
candidates were required to attempt short answer questions such as to
define wisdom, provide two examples of wisdom and explain in which
events or wisdom is used, mention four types of Literature which make
good Arabic literature, explain when did the era of paganism started
and ended and also to mention one woman poet who lived through
paganism and Islam.

The question was attempted by 31 candidates (7.5%). Statistics shows
that 17 candidates (93.5%) scored from 0 to 6 marks and 14 candidates
(6.5%) scored from 9 to 10 marks. The general performance was poor
since a large number of candidates scored below average as illustrated
in Figure 13.

Scores
HO-6
09 -10

Figure 13: Candidates’ performance in gquestion 5

This question was the least attempted in this section. In part (a), most of
the candidates provided wrong answers which were not related to the
demand of the question. For example, one of the candidates wrote
verses of a poem instead of writing four characteristics of pagan poems.
The candidate wrote LYy syl o alid cdalddlly Lipddll I fa
L deadlly vl 5 (ot Lalt Lseailly g g S 5 d U3 30 pa 5135 diaae §1“To
incline to luxuriousness and rudeness, to be free from errors and non-
Arabic words, to be free from decoration and affectation and it was
simple for pagan people and difficult in this time for us”.
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In part b, the majority of the candidates failed to explain meaning of
wisdom and its examples. The candidates also failed to explain
situations where wisdom is used. For example, one of the candidates
wrote that the wisdom is one of poems’ purposes instead of explaining
Aae Llitwd) Ljady buolw Ure 4ibh 4 Joay &l jaga Jof A 4asal) “The
wisdom is the briefed speech and well-spoken which carry the deep
meaning and long experience of humankind”. The candidates could not
mention one woman poet who lived through paganism and Islam. For
example, one of the candidates wrote <l (¢ Jlaa “Hassan Thabit” as
one woman poet who lived through paganism and Islam. This response
was incorrect. The correct response is sladdl aald G 6 eld (24 #ludid
o maiadl “Al-khansaa is one of the women poets who lived through
paganism and Islam”. Some of the candidates provided irrelevant
answers in all items and others did not attempt the question. The poor
performance shows that these candidates had insufficient knowledge on
literature. Extract 5.1 shows a sample of a poor response.
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Extract 5.1: A sample of a poor response of the candidate who provided
irrelevant answers in all items.

Despite the poor performance of some candidates, there were some
candidates who performed fairly well in this question. Most of them
were able to mention four types of Literature which make good
literature as follows <Libally sl Juil) Aldad) S8Y) dislall dible)
4Laal “True sympathy, positive thinking, imagination and good
expression” and explain when the era of paganism started and ended.
For example, one of the candidates wrote X/ _isgdi Jfd Aolad) saell js
) gl 4Ly Lale (psad g dila g3 “The era of paganism started
around 150 years before the advent of the Islam and ended after its
advent.” Others provided partial responses. This shows that few
candidates were familiar with Arab literature.
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3.3.2 Question 6

This question had two parts; (a) and (b). In part (a) the candidates were
required to define the poem, explain why the poem was known as
«lilee) (Al-mualagaat), mention three types of poems, mention three
Arabian Markets which had a huge impact in Arabic Literature and
mention the Era which was called ¢ naia (AL-mukhadharamina). In
part (b), the candidates were required to write down the position of the
poems in the pagan Era.

The question was attempted by 374 candidates (90.8%). Their
performance in this question was good as 137 candidates (36.6%)
scored from 0 to 6.5 marks, 204 candidates (54.6%) scored from 7 to
11.5 marks and 33 candidates (8.8%) scored from 12 to 16 marks. The
performance of the candidates in question is summarized in Figure 14.
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Figure 14: Candidates’ performance in question 6

The analysis of the candidates’ responses shows that many of the
candidates who attempted this question performed well. These
candidates were able to define the meaning of poem as follows; ¢ e/
Liwe dg 0 il Ao asbiia 23S “Poem is the poetical speech which has
well-known and special measures”. The candidates also provided
reasons which were caused to name some poems as «iilea/ (Al-
mualagaat) for example, one of the candidates wrote that, <t ew fé
A sile agi¥ A o S o i o W glle g cadll play U gilS ol oY
ag-ladf “Tt said, it was called that because Arabs wrote the poem by
melted gold and hanged them on the curtain of Ka’aba or It is said, it
was called that because Arabs kept the poem in their minds”. They also
could mention three types of poems as one of the candidates wrote;
el pddlly acadll pdl) o Lkl 2l “The songs poem, narrative poem
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and drama poem. Moreover, they mentioned three Arabian Markets
which had a huge impact in Arabic Literature (ds«s Liae dsw bilSe 5o
Jlaal o4 “Ikadh market, Majinna market and Dhilmajaaz market and
finally specified Era of cwesaial (AL-mukhadharamina) like this s
2] e pac g Al pae Jodo odll uarl “It is a period of paganism
and Islam”. Furthermore, they were able to provide the status of the
poems in the pagan Era. This good performance shows that, these
candidates had adequate knowledge on Arabic literature. Extract 6.1
shows a sample of a good response.
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Extract 6.1: A sample of a good response of the candidate who was able to
provide appropriate answers as required.

Further analysis of the candidates’ responses shows that the candidates
who performed poorly in this question were unable to define the poem
and also to explain why the poem was known as «tiles// (Al-mualagaat),
Moreover, these candidates were unable to mention three types of
poems, write down three Arabian Markets which had a huge impact in
Arabic Literature and explain the Era which was called (g xaial/ (AL-
mukhadharamina).

Most of these candidates failed to provide correct responses in item (a-
2) which wanted the candidates to explain why the poem was known as
<likos (Al-mualagaat), many of them left the question unanswered and
others provided irrelevant answers. For example, one of the candidates
wrote <lileal (Al-mualagaat) Lt e [ 4¥ clilealls aw (Al-
mualagaat) is the period of paganism which had started”, this was
wrong. The correct response was ¢/ slas L gl el OF Al aw Jd
ag-ila ] 4 b glle agi¥ ML o JF of Jli] o 1o 5ile 9Tt is said that Arabs
wrote the poem by melted gold and hanged them on the curtain of
Ka’aba or “It is said, it was called <tiee//(Al-mualagaat) because Arabs
kept the poem in their minds”. Moreover, the candidates failed to
provide appropriate response in (b) which wanted the candidates to
explain the position of the poems in the pagan Era. The majority of
candidates provided in sufficient explanation, thus they scored low
marks. For example, one of the candidates wrote some purposes of
poems Lasally Jjal el ccduagll « 24N cziall “Praise, glory, description,
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elegy, love and aphorism” instead of the status of the poems in the
pagan era which could be stated as siasll pde Y/ Ay Llolad) 4 ol SlS
Maw jpdll ISy 16 Sle Juadll Jawy lpplaals Ludyg Walaef il o JiLdl 4
Ay Cluac g (R Ile o g OIS Lo JO Lilalal) sLalf lisla“The poem
was only communication media for tribes in the paganism to spread
their prides, praise and dignity. It was a true logbook for the life of
paganism in which included ethics, tribalism and battles”. This poor
performance shows that these candidates had inadequate knowledge of
Arabic Literature. Extract 6.2 shows a sample of a poor response.
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Extract 6.2: A sample of a poor response of the candidate who wrote the
name of a poet Zuheyri Sulmah instead of the status of the poems in the

paganism in part (b).

3.4 Section 4: Literature (Analysis of Poems and Proses)
This section comprised two questions and the candidates were required to
attempt only one question. Each question carried twenty (20) marks.
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3.4.1 Question 7
This question had three parts; (a), (b) and (c). In part (a), the candidates
were required to explain the meaning of the poem. In part (b) the
candidates were instructed to explain in which occasion the poet stated
the poem. In part (c), the candidates were required to explain the
meaning of the given words.

This question was attempted by 44 candidates (10.7%). The statistics
shows that 26 candidates (59.1%) scored from O to 5 marks, 9
candidates (20.4%) scored from 7 to 11 marks and 9 candidates (20.5%)
scored from 12 to 19 marks. The general performance of the candidates
in this question was average whereby 18 candidates (40.9%) scored
from 7 to 19 marks. Figure 15 summarizes the performance in question

;
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Figure 15: Candidates’ performance in question 7

Most of the candidates who performed well in this question were able
to explain in details the meaning of the given poem, mention the
occasion in which the poem was stated, and explain meaning of the
given words. The good performance shows that these candidates had
sufficient knowledge on Arabic Literature and good mastery of Arabic
Language. Extract 7.1 illustrates a sample of a good response.
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Extract 7.1: A sample of a good response of the candidate who correctly
explained the meaning of the given words.

On the other hand, the candidates who attempted part (c) performed
poorly. Most of the candidates provided irrelevant responses. For
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example, one of the candidates provided incorrect meaning of the words
-] o e phad] BT Y e -3 ) gy puaal) -2 Aildiay cabdy Y - i ¥ -]
dlal) - Jg2 -5 2/ <“1- He does not neglect— he does not take clearness
away. 2-Shouting- the sword 3- Bored with- don’t say until sunset 4-
Honor- unseen 5-Inconstant-the king”. The correct answers were ¥ -1
93 -5 gl 33 ped) -4 ity Jo e -3 el gy paal) -2 JOLAL Y - iy
J3ade “1- He does not neglect— he does not ignore. 2-Shouting- to call
for the help 3- Bored with- become tired 4- Honor- dignity 5-
Inconstant-changeable”. The poor response shows that these candidates
had inadequate vocabulary and insufficient knowledge on Arabic

Literature. Extract 7.2 shows a sample of a poor response.
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Extract 7.2: A sample of a poor response of the candidate who incorrectly
explained the meaning of the given poem.

3.4.2 Question 8

This question had three parts; (a), (b) and (c), In part (a), the candidates
were required to explain the meaning of the given poem. In part (b),
the candidates were required to explain in which occasion the poet

59



stated the poem. In part (c), the candidates were instructed to explain
the meaning of the given words.

This question was attempted by 352 candidates (85.4%). 77 candidates
(21.9%) scored from 12 to 20 marks, 110 candidates (31.2%) scored
from 7 to 11.5 marks and 165 candidates (46.9%) scored from 0 to 6.5
marks. Thus, the general performance for the question was average,
because 187 candidates (53.1%) scored 35 percent and above of the
allocated 20 marks. Figure 16 illustrates this analysis.

Scores

HO0-6.5
o7-11.5
m12-20

Figure 16: Candidates’ performance in question 8

The candidates who performed well in this question were able to
explain the meaning of the given poem in detail, mention the occasion
in which the poet stated the poem and explain the meaning of the given
words. This good performance shows that these candidates had enough
vocabulary and sufficient knowledge on Arabic Literature. Extract 8.1
shows a sample of a good response.
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Extract 8.1: A sample of a good response of the candidate who explained
correctly the meaning of the given poem.

However, the candidates who performed poorly in this question were

unable to explain in detail the meaning of the given poem, were unable




to explain in which occasion the poet stated the poem and were unable
to provide the meaning of the given words. Most of the candidates
failed to explain in detail the meaning of the given poem due to
insufficient vocabulary. Some of the candidates did not attempt the
question, while others provided unclear statements meaning on the
given text.

Furthermore, the responses of these candidates had a lot of spelling
mistakes. For example, one of the candidates wrote ( s Lo Lo sald ¥ g
sldy o 40 4l oy # as follows; U Heall 4 Coll ode cull o Gls i) S
day uddll S AlBY gaiaall A ad (Gt cild caly dliy &gadl cipd Gl JS
“The poem said Hassan Thabit this verse in the meaning which
everybody drunk death therefore child, young man, friend, after that in
the society no oppression for everyone”.

The above explanation is poorly formed. The correct answer was ¥/s
ekl aulel] 48 aSny by cduie i) a g JBLL a$0ed “If not, you have to
wait till the day of fierce and terrible fight and God will give the victory
to whom He wishes”. Moreover, there were some candidates who failed
to explain the occasion in which the poet stated the poem. Many of the
candidates wrote the answers which were not related to the requirement
of the question. For example, one of the candidates explained about the
poet Zuheri Abysulma instead of Hassan Thabit. The poor responses
show that the candidates had insufficient knowledge on Arabic
literature and a poor mastery of Arabic Language. Extract 8.2 shows a
sample of a poor response.
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Extract: 8.2: A sample of a poor response of the candidate who provided
unclear explanations on the given poem.

3.5 Section 5: Response to Readings
This section comprised two questions and the candidates we required to
attempt only one. Each question carried twenty (20) marks.
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3.5.1 Question 9
In this question, the candidates were required to explain obstacles did
Bursha face until she got married and the lesson we get from the story
of Bursha.

The question was attempted by 222 candidates (53.9%). 206 candidates
(92.8%) scored from 0 to 6.5 marks. 14 candidates (6.3%) scored from
7 to 11 marks. Only 2 candidates (0.9%) scored from 12 to 15 marks.
According to this data, the performance in this question was poor since
the number of the candidates who scored below 35 percent was 206
candidates (92.8%). Figure 17 summarizes the performance of the
candidates in question 9.

0.9

12-15

Scores
7-11
@

L¥S]

0 20 40 60 80 100
Percentage of Candidates

Figure 17: Candidates’ performance in question 9

The analysis of the candidates’ responses shows that most of the
candidates who performed poorly in this question provided answers
which were not related to the requirements of the question. For
example, one of the candidates provided the story of Ali Koja instead of
Bursha. Some of the candidates wrote unclear explanations and others
did not attempt the question. The poor performance shows that these
candidates had insufficient vocabulary to express themselves. Extract
9.1 shows a sample of a poor response in question 9.
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Extract 9.1: A sample of a poor response of the candidate who explained
on the crisis of wealth between Shayluk and Un-ton-yo instead of the
story of Bursha obstacles related to her marriage.

Further analysis of the candidates’ responses indicates that there were
few candidates who were able to explain in detail all obstacles that
Bursha faced until she was married to Basinyu. Few candidates also
mentioned the lessons which are learned from the story. Furthermore,
the candidates arranged and organized their points well, though there
were some grammatical and spelling errors.

For example, one of the candidates wrote <7 ¥ :4if Ll Ly gif JE

C 95 aly Uy gb 530 & ppad oliy gucr 448 (94N (G gtial) o JLIS) tay Y daf (oL A g e

s 4 el 23N §gdiall LSy cild JS Y sl “Bursha’s father told her
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that, you will not marry anyone until the person who wants to marry
you could select a box which contains your picture, she waited for a
long time without marrying anyone because no one of the young men
could select the box which contains her picture”.

In another example, one of the candidates wrote one of the lessons as
follows; cuilael tic piff Flide jually a¥ o3 cundicwa Cpll gl delhll “It is a
nice thing for children to have obedience to their parents, and the
tolerance is a key of good in case of misfortune” This good
performance implies that, these candidates had sufficient knowledge on
the story and good mastery of Arabic Language. Extract 9.2 shows a
sample of a good response.
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Extract 9.2: A sample of a good response of the candidate who explained
obstacles did Bursha face until she was married to Basinyu and mentioned
some lessons.

3.5.2 Question 10
In this question, the candidates were required to explain how the
Sindbad Albahri appeared before King Mahraja.

This question was attempted by 141 candidates (34.2%). The
performance on this question was poor since 118 candidates (83.7%)
scored below average. The data analysis indicated that 6 candidates
(4.3%) scored from 12 to 16.5 marks, 17 candidates (12%) scored from
7 to 11.5 marks and 118 candidates (83.7%) scored from O to 6 marks
out of 20 marks. Figure 18 summarizes the performance of the
candidates.
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Figure 18: Candidates’ performance in question 10

According to the analysis of candidates’ responses, most of the
candidates who performed poorly in this question were unable to
explain how Sindbad appeared before King Maharaja. Some of them
provided incorrect and unclear responses. Moreover, their responses
had a lot of grammatical mistakes. For example, one of the candidates
Wrote 4 tnd b oS lSa 0dd g, Judl) GlSa A Gl dbidic &y pbf (a0 (A9
olwdy) The correct grammar was supposed to be written as follows; 49
134 S oKLy Judl) lSa (A 09380 O () o o) i) culls aL¥) s o g
Ol Jaad | phs i<l “Once upon a time, Sindbad wanted the people
to take him to Elephants’ place but that place was dangerous for
mankind”. This poor performance implies that these candidates had
poor mastery of Arabic Language and insufficient knowledge of
Sindbad’s story. Extract 10.1 shows a sample of a poor response.
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Extract 10.1: A sample of a poor response of the candidate who failed to
explain on how did Sindbad appeared before King Mahraja.

On the other hand, the candidates who performed well in this question
were able to provide correct details of how Sindbad appeared in the
presence of King Mahraja.

For example, one of the candidates wrote that: ( « &/ (e dbticd/ Lad 5f te
A pgra 0518 ) i g 5 g ad) 048 cialia La ygal) llal) adiy Elld 5y jad) A L
Lo JS1 o pild diad (e Al L ygal) agSle A 0 gadd Cun sigl) DU ) [slay of
4 &ua) “After Sindbad saved from sinking, he fled to the Island where
he met the servants of the king of the Indian country called Maharaja
who was also the owner of that Island. The servants submitted him to
the king. The King asked him to narrate all events which made him to
reach the Island. Sindbad narrated everything to the King.”

Furthermore, the candidates arranged and organized their points well,
even though there were some slight grammatical errors. This suggests
that the candidates had enough knowledge on Sindbad’s story and
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sufficient vocabulary to narrate the story in Arabic Language. Extract
10.2 shows a sample of a good response.
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Extract 10.2: A sample of a good response of the candidate who correctly
narrated Sindbad’s story.
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4.0

5.0

6.0

ANALYSIS OF CANDIDATES’ PERFORMANCE IN EACH TOPIC

The analysis of the candidates’ responses in each topic shows that the
candidates had good performance in Comprehension (94.7%), Poems and
Proses (86.7%) and Morphology (69.55%). These candidates performed well in
these topics because they had sufficient knowledge and skills. This indicates
that the candidates scored an average of 35 or above in these topics. The
candidates had average performance in Language use (55.4%), Grammar
(48%) and Analysis of Poems and proses (47%). These candidates performed
on average because they mastered some topics partially. However, the
candidates had poor performance in History of Literature (34.95%), Rhetoric
(28.75%), Response to Readings (11.75%) and Composition (4.65%) because
they lacked adequate knowledge and skills on these topics.

CONCLUSION

The general performance of the candidates in Arabic Language in the ACSEE
2018 was average. The analysis of candidates' performance indicates that the
weak performance could be attributed by insufficient knowledge on
Composition and Rhetoric, failure to identify the demands of the questions,
lack of vocabulary and ability to express themselves in Arabic Language.

However, the candidates had shown good performance in reading
comprehension and poems. This could have been attributed to having good
skills in reading for comprehension and poem which enabled them to
understand and identify the requirements of the questions.

Moreover, the analysis of the candidates’ performance in Comprehension,
Poems and Proses, Grammar, History of literature, Analysis of poems and
proses, Language use and Morphology in the year 2018 has increased by
(2.1%), (7.95%), (5, 7.5%), (5.55%), (23.95%) and (21.45%) respectively
when compared to the performance in 2017. On the other hand, the candidates’
performance has decreased by (21.05%), (21.65%) and (9.4%) in Response to
Readings, composition and Rhetoric respectively in the 2018 when compared
to the performance in 2017 respectively.

RECOMMENDATIONS

In order to improve the performance of the candidates in the future, the
following are recommended.
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(a) Teachers should guide the students to understand the parts of speech such
as nouns, pronouns, adjectives, verbs, adverbs, prepositions, conjunctions
and interjections. This will enable them to understand the tasks of the
questions and write clear and correct explanations.

(b) Teachers should guide the students to pay attention in listening to other
Arabic speakers and repeat what has been said. This will help them to
understand how sentences are formed and to expand their vocabulary.

(c) Teachers should guide the students to improve writing skills in Arabic
Language by encouraging them to write different sentences, stories as well
as articles. This will help them to write well answers in their examination.

(d) Teachers should guide the students to know and practise Arabic grammar in
their daily speaking and writing so as to improve writing of essays, articles
and letters. This will help them to write correct answers.

(e) Teachers should guide the students to strengthen their efforts in studying

the topics on Rhetoric and Response to Readings in order to perform well in
the examination.
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Appendix A

Comparison of Summary of Candidates’ Performance in Each Topic
125- ARABIC LANGUAGE

S/IN

Topic

Total
Number
of
Questions

2017 2018
The The
Percentage Percentage
of of
Candidates Candidates
who Scored Remarks who Scored Remarks
35 an 35an
Average Average
Marks or Marks or
Above Above

Morphology Average
4. | Grammar 2 43 Average 48 Average
5. | Literature 2 41.45 Average 47 Average
(Analysis of
Poems and
Proses)

Rhetoric
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Appendix B

Comparison of Summary of Candidates’ Performance in Each Topic
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